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A - ER(EN) - AR - B of & o4 SSa HIDZ2
401 AIEBI L 2CHEI 20,000 20,000 0
01 A& dl 20,000 20,000 0

OMoli?I & =M bl 20,000
At2el 1,415,035 1,681,349 N266,314

A el 1,347,225 1,622,413 A275,188
101 @124 8] 184,329 168,417 15,912
04 DIt 22 XS+ 184,329 168,417 15,912

OFAL X AM&2e 92y 184,329
OPIE3= 1,822,480& x 1204 & 5 109,349
=5 ¥ gisE 69,7603 x 152 x5 5,232
oAzt =228
8,720 »1.5%46 A1 2t+120H & 5 H 36,101
O=E8gRE= 154,517 ,000& *13% 20,088
Of&=¢ 77,060% 302 %(365/365) *5H 11,559
Oul=H| 200,000& »23| x5H 2,000
201 LBt2 | 457,896 467,496 A 9,600
01 At 22l bl 95,296 104,896 A 9,600
Oget>+SHl 95,296
Oget=ZH| 30,000
OCEALESE(HHAES) 7¢ 28,800
ORFID 2B 22lAl28 23 (EB11)7Y 7,000
OUE+22 (8], 48, 527)
1,800,000 «12& 21,600
OFXZHMAIAYE Jt=E==== 30,0008 122 360
otlol sx2e 24 22,0003 240128 6,336
O3JI8dIl i 5 50,0003 =20 =122 1,200
02 S3=29Hl 362,600 362,600 0
0=32= & HA 248,000
OFSDIRTS=, 220,000
ORZ+A 2SI (OtA, 22l §) 4,000
Oddt=e= 24,000
OdHTAIAY SX2e 4,500,000& 23| 9,000
OBMAIEZE A2 102,000
OFA 22 A & HE A Y 10,000
OFMH2HMAAE S22
1,000,000 x12& 12,000
OFA =& 22 20,000
OJIEtAIE€E = A2el 60,000
ORFID =3 2clAIAE |2t 3,600
401 AlEHIZ R0 8] 635,000 777,000 A 142,000
01 AlZHI 635,000 777,000 A 142,000
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OFIAMN &SBME A2 +cl 150,000
o= A & MI|&H | 80,000
O3BANEZE HIIEH 29 7,500,000 *23| 15,000
SHEAI B Y SHNH AL 390,000
OPIAIRA MotetA DR
100,000,000 =14 100,000
O3 HA A2 AIEHH| 110,000
OOotgE AL 31 NE=Z A 40,000
O HAF 208 HHISAH 20,000
OMNEH HLE I X3 A 25,000
Oatels HAF ZHlZ2Al 35,000
S-H 3AN2UASES 60,000
405 XH&HF S HI 70,000 A 139,500
01 AL 2B F SHI 70,000 A 139,500
o2& HIIHS UM 70,000
AL REFIE 22 67,810 8,874
101 @1 21| 64,810 11,874
04 JIZtHIZ22NHEE 64,810 11,874
OFANF=XE 22l 2182 64,810
(OPIE=3=| 1,822,480& 120 & »2H 43,740
Od Xt 69,7603 68 x2H 9,488
OoBggedg= 47,366,000& *13% 6,158
OE &Y 77,0603 *302 *(365/365)*2H 4,624
O =y 200,000& *23| x2H 800
201 et A | 3,000 A 3,000
01 At 22l ] 3,000 A 3,000
O Ybt=2H| 3,000
22| 485,650 A 35,700
= 16,000
o= 3,000
= 466,650
SEXE 22| 485,650 A 35,700
= 16,000
o= 3,000
= 466,650
201 Bt A H| 198,650 N 37,700
01 At 22/ 14,700 A3,300
OBEXY I (H+) 2,000
OMRESE 7L 1,000
o=sss3(21) 23422 1,500
O=22xg N2 SdH= 600,000& x12& 7,200
O3EXE M Xyl 250,000& 128 3,000
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Os &t 650,000& =12CH 7,800
Ost= Xt 450,000 =45CH 20,250
OEZEH 1,000,000 = 1CH 1,000
OJIEtE=8 Xt 450,000& *x22CH 9,900
Ol F (A 600, 000& *7H 4,200
O Xt Xt Al 13,600
OssXHY E)
100, 000& *122CH 12,200
Ol (A )Xt 200,000 =7CH 1,400
O3EXE =4t 25,000
(OFEFE=PX; 500,000& = 16CH 8,000
Os &t 2,500,000 «3CH 7,500
OEZEH 3,000,000& =1CH 3,000
Ost2xt 500, 000& *7H 3,500
OJIEtE = 600,000& *5CH 3,000
o=2xg RFU 7,000,000 x12& 84,000
oI RE 2 1,500, 000& *23] 3,000
405 XtabF SHI 287,000 285,000 2,000
= 16,000
o= 3,000
= 268,000
01 Mt =S F SHI 287,000 285,000 2,000
osgxy #¢ 287,000
OFAX(&AH 95,000,000 »2CH 190,000
OAESIEXN HHPL (=S4, 56H01H)
25,000,000& *2CH 50,000
OXNENEHES 1,000, 000& ~4LH 4,000
OL8sl=2d =) 43,000
= 16,000
o= 3,000
= 24,000
SIHMNE &9 61,920 64,020 N2,100
EHE 3 H KX 54,900 57,000 A2,100
201 et 52,900 55,000 A2,100
01 AR 22l ] 30,900 33,000 A2,100
Obt=2H| 18,900
OZ2NEAIRIEZ 150,000& x4 20 12,000
02 3524 H| 22,000 22,000 0
ONXE 0 20,000& x503| x12& 12,000
OJIAH & = 500,000& *203] 10,000
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203 YR =&l 2,000 2,000 0
03 Al F=XH R =AH| 2,000 2,000 0
O3lH=2YE RF&HI 2,000
HaHS 7,020 7,020 0
201 L4l 7,020 7,020 0
01 At 22l 2,520 2,520 0
o=24d+¢ 2,520
OHAMRARE = 70,0003 x9H 43 2,520
02 =224l 4,500 4,500 0
O A& ZHI S X 4,500
OFAMNEZIOY KA ]l 1,500
OHAAHESMHAIAY R =l
250,000& 128 3,000
SALI 3 A 19,500 20,000 A 500
SEMREEIN &4 19,500 20,000 A 500
201 £B-2d| 19,500 20,000 A 500
01 At 22l 19,500 20,000 A 500
OSARISA MHEME UH2EF =2 15,000
O el 4,500
HE 2 A A 100,921 120,697 A19,776
Jl2dH (M) 100,921 120,697 N19,776
HEFAFH 4,860 4,920 A 60
203 YR =& 4,860 4,920 A60
04 NI 4,860 4,920 260
ORN2EYF=AHI 405,000& 123 4,860
2Bt 17,197 17,197 0
201 et 17,197 17,197 0
01 At 22l 17,197 17,197 0
ORM2EI2+EH| 10,515
ORAMN2YII=S I 6,682
=W 78,864 98,580 A 19,716
202 o4dl 78,864 98,580 AN 19,716
01 = LH o4 1l 78,864 98,580 A 19,716
O=Lotl 78,864
O&U oyl 59,520,000& 59,520
O&20ddl 19,344,000& 19,344
B2 (M) 100,000 100,000 0
HAS(MHRD) 100,000 100,000 0
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